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QUESTION 1
Your network contains multiple servers that run Windows Server 2012.

You plan to implement three virtual disks. The virtual disks will be configured as shown in the following table.

~ Virtual disk name
vDL
VD2
VD3

You need to identify the minimum number of physical disks required for each virtual disk.
How many disks should you identify?

To answer, drag the appropriate number of disks to the correct virtual disk in the answer area. Each number of disks
may be used once, more than once, or not at all. Additionally, you may need to drag

the split bar between panes or scroll to view content.

Select and Place:

Number of Disks Answer Area
two disks > .
Number of disks
three disks
Number of dicks
four disks
e ke Number of disks

Correct Answer:
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Number of Disks Answer ﬁga
5
R

VD1 /ég‘étwu disks
qﬁg three disks

\ 4

four disks ¢
&

=

VD3 five disks

QUESTION 2

This question consists of two statements: One is hamed Assertion and the other is named Reason. Both of these
statements may be true; both may be false; or one may be true, while the other may be false.

To answer this question, you must first evaluate whether each statement is true on its own. If both statements are true,
then you must evaluate whether the Reason (the second statement) correctly explains the Assertion (the first
statement).

You will then select the answer from the list of answer choices that matches your evaluation of the two statements.

Assertion:

A company can share virtual hard disk files (.vhdx) to create a guest failover cluster without presenting the storage
topology to the virtual machines.

Reason:

Failover Cluster Manager creates shared virtual hard disks automatically when you configure a guest failover cluster.
Evaluate the Assertion and Reason statements and choose the correct answer option.

A. Both the Assertion and Reason are true, and the Reason is the Correct explanation for the Assertion.

B. Both the Assertion and Reason are true, but the Reason in not the correct explanation for the Assertion.

C. The Assertion is true, but the Reason is false.

D. The assertion is false, but the Reason is true.

E. Both the Assertion and the Reason are false.

Correct Answer: C

QUESTION 3

Latest 70-414 Dumps | 70-414 Practice Test | 70-414 Exam Questions 3/7


https://www.passapply.com/70-414.html
https://www.passapply.com/70-414.html
https://www.passapply.com/70-414.html

VCE & PDF https://www.passapply.com/70-414.html
2021 Latest passapply 70-414 PDF and VCE dumps Download

Your network contains servers that run only Windows Server 2012,

You have five storage pools. The storage pools are configured as shown in the following table.

Storage pool name Contents
StoragePooll e Two SATA dIS\k'S‘
e One SAS d’i&k
StoragePool2 . qu,_i\géépdisks
. gnevvsa disk

StoragePool3 7 Five SAS disks
Ve Twoiscsl disks

StoragePool4 e Three SAS disks

StoragePool5 e Two iSCSI disks

You need to identify which storage pools can be used as clustered disk resources.

Which storage pools should you identify? (Each correct answer presents part of the solution. Choose all that apply.)
A. StoragePooll

B. StoragePool2

C. StoragePool3

D. StoragePool4

E. StoragePool5

Correct Answer: D

The clustered storage pool MUST be comprised of Serial Attached SCSI (SAS) connected physical disks.

Note: SAS, Serial Attached SCSI, is an evolution of parallel SCSI into a point-to-point serial peripheral interface in which
controllers are linked directly to disk drives.

Incorrect Answers:
B, C, E: iSCSI and Fibre Channel controllers are not supported.

References: https://technet.microsoft.com/en-us/library/jj822937.aspx

QUESTION 4

You administer an Active Directory Domain Services environment. There are no certification authorities (CAs) in the
environment.

You plan to implement a two-tier CA hierarchy with an offline root CA.

Latest 70-414 Dumps | 70-414 Practice Test | 70-414 Exam Questions 417


https://www.passapply.com/70-414.html
https://www.passapply.com/70-414.html
https://www.passapply.com/70-414.html

VCE & PDF https://lwww.passapply.com/70-414.html|
2021 Latest passapply 70-414 PDF and VCE dumps Download
PassApply.com

You need to ensure that the issuing CA is not used to create additional subordinate CAs.

What should you do?

A. In the CAPalicy.inf file for the issuing CA, enter the following constraint:PathLength=1

B. In the CAPolicy.inf file for the root CA, enter the following constraint:PathLength=1

C. In the CAPolicy.inf file for the root CA, enter the following constraint:PathLength=2

D. In the CAPolicy.inf file for the issuing CA, enter the following constraint:PathLength=2

Correct Answer: B

You can use the CAPolicy.inf file to define the PathLength constraint in the Basic Constraints extension of the root CA
certificate. Setting the PathLength basic constraint allows you to limit the path length of the CA hierarchy by specifying
how many tiers of subordinate CAs can exist beneaththe root. A PathLength of 1 means there can be at most one tier of
CAs beneath the root. These subordinate CAs will have a PathLength basic constraint of 0, which means that they

cannot issue any subordinate CA certificates.

References: http://blogs.technet.com/b/askds/archive/2009/10/15/windows-server-2008-r2-capolicy-inf-syntax.aspx

QUESTION 5
You need to recommend a monitoring solution for Proseware.

Which three actions should you recommend performing in sequence? To answer, move the appropriate actions from the
list of actions to the answer area and arrange them in the correct order.

Select and Place:

Actions Answer Area
Configure a notification subscription.
&
_ = : \)
Configure an availability monitor. @
\’%ﬂ
From the Virtual Machine Manager console, @
configure Operations Manager integration. @ 5
b/““
From the Operations Manager console, N
configure YMM integration. @%ﬂ}

o
Install the Operations Manager;@(é}e on the
VMM server. 3°

&

Install the Virtual Machine Manager console on
the Operations Manager server.
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Correct Answer:

Actions Answer Area
Install the Operations Manager console on the
VMM server. @
Configure an availability monitor. AL

FrogdhieeVirtual Machine Manager console,
cofffigure Operations Manager integration.

From the Operations Manager console,
configure VMM integration. '
h

&

Install the Virtual Machine Manager console on
the Operations Manager server.
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